O
-
=)
8
5
Linear Rail System Linear Rail System @
-
3
SBI High-load Linear Rail System SBI High-load Linear Rail System
SBI-FL/FLS/FLL
/wo\\ Mpo
® AM w 2-Q1 N1 L
Vo L1 N2 4-*Q2
B
J
r‘w : : D ‘ ‘
o T el 71 [[= € 1l ﬁ LT IEN o[
K il
Myo H i ==
AR i1 of o[ = | Jl'l=
/ HE i
E ] d
G F
@1} W2 W1 LO
(Unit : mm)
Mounting dimension Block dimensions Rail dimension Basic load | Permissible static Mass
Model Mounting tap hole G fitti Bolt hol Max rating moment
ode rease fitting olt hole [kN] (kN -m] Block | Rail
H | W | L E L1/ TH | K W1 | W2 | H1 F length
B|J|M]|*s TT{NT|T2|N2| Q1 |*Q2 gD n| %S Ccol Mo Mpo | Myo| [k | [kgm]
SBI5 FLS| 24 | 47 [56.8| 3 | 38 | 30 | M5 | M4 (382 11 | 21 | 45|55 3.8 3.8 M4x0.7| @3.5 15 16 13 ] 60| 45| 75| 55| 20 | 3000 | 12.3| 183 | 0.13| 0.08| 0.08| 0.20| 1.3
SBIT6 FL | 24 | 47 |63.8| 3 | 38| 30 | M5 | M4 (452 9 | 21 | 45 |55|3838 M4x0.7| @35 15 16 13 ] 60| 45| 75| 55| 20 | 3000 | 141 241 016 017 017 0.24| 1.3
SBI1S FLL| 24 | 47 |79.4] 3 | 38 | 30 | M5 | M4 |60.8] 9 | 21 | 45| 55|38 |38 M4x0.7| #3.5 15 16 13 ] 60| 45| 75| 55| 20 | 3000 | 17.1| 31.7| 0.2t 0.29| 029 0.30| 13
SBI20 FLS| 30 | 63 |73.8| 4.6 | 53 | 40 | M6 | M5 |51.8] 12 |254| 6 | 12 | 58| 5 |M6x0.75 @#3.5 20 | 21.5] 16.5| 60 6 95| 85| 20 | 4000 | 20.2| 29.1] 0.29| 0.18| 0.18| 0.44| 2.2
SBI20 FL | 30 | 63 |78.8| 4.6 | 53 | 40 | M6 | M5 |56.8| 12 |254| 6 | 12 | 58| 5 |M6x0.75 @3.5 20 | 215] 165| 60 6 95| 85| 20 | 4000 | 222| 382| 036| 0.33| 0.33| 046 272
SBI20 FLL| 30 | 63 |96.4| 46 | 53 | 40 | M6 | M5 |74.4| 12 |25.4| 6 | 12 | 58| 5 |M6x0.75 @3.5 20 | 215] 165! 60 6 95| 85| 20 | 4000 | 279| 50 | 0.47| 056| 056| 060 22
SBI25 FLS| 36 | 70 | 83 | 55| 57 | 45 | M8 | M6 | 61 | 13 |30.5| 6 | 12 | b 5 |M6x0.75 @3.5 23 | 235! 20 | 60 7 11 9 20 | 4000 | 289 42.8] 049| 032| 032| 066| 3
SBIS FL | 36 | 70 | 92 | 55| 57 | 45 | M8 | M6 | 70 | 13 |30.5| 6 | 12 | 5 5 |M6x0.75 @3.5 23 | 235| 20 60 7 11 9 20 | 4000 | 315| 5211 056| 056| 056| 0.75| 3
SBI25 FLL| 36 | 70 | 108 | 55| 57 | 45 | M8 | M6 | 86 | 13 |30.5| 6 | 12 | & 5 |M6x0.75] @#3.5 23 | 235| 20 | 60 7 11 9 20 | 4000 | 367 | 644 069| 084| 084| 080 3
SBI30 FLS| 42 | 90 |96.8| 7 | 72 | 52 |M10| M8 |68.8/155| 35 |85 | 12 | 7.8 | 5 |M6x0.75 @5.7 08 31 23 | 80 9 14 12 | 20 | 4000 | 392| 577] 0.80| 049| 049| 108| 425
SBI30 FL | 42 | 90 |107.6] 7 | 72 | 52 |M10| M8 |79.6|155| 35 | 85| 12 | 7.8 | 5 |M6x0.75| @5.7 28 31 23 80 9 14 12 20 | 4000 | 42.8| 654 0.85| 077| 077| 1.25| 4.25
SBI30 FLL| 42 | 90 (131.6| 7 | 72 | 52 |M10| M8 |103.6/15.5| 35 | 85| 12 | 7.8 | 5 |M6x0.75| @5.7 8 31 23 80 9 14 12 20 | 4000 | 513| 847| 110| 130| 130| 165| 425
SBI35 FLS| 48 | 10010821 8 | 82 | 62 |M10O| M8 |78.2| 15 | 40 | 8 12 8 6 |M6x0.75 @5.7 34 33 26 80 9 14 19 20 4000 | 520! 7331 1241 0711 071] 153] 602
SBI35 FL | 48 | 100 [124.6/ 7.5 | 82 | 62 |M10| M8 |94.6| 16 |40.5| 8 | 12 | 8 | 6 |M6x0.75 @5.7 30| 33| 26| 80| 9 | 14| 12| 20 | 4000 | 59.5| 89.1| 1.42| 128 128 1.92| 6.02
SBI45 FL | 60 | 120 | 142 | 9 |100| 80 |Mi2|M10| 108 | 18 | 51 |10.5|135| 9.3 | 6.5 | PT1/8 | @5.7 45 | 375| 32 | 105| 14 | 20 | 17 | 225| 4000 | 79.2| 116:3| 2.48| 1.90| 1.90| 3.25| 9.77
SBI45 FLL| 80 | 120 | 174 | 9 |100| 80 |M12|M10| 140 | 18 | 51 |10.5/13.5( 9.3 | 65| PTI/8 | @5.7 45 | 3750 32 | 1051 14 | 20 | 17 | 2251 4000 | 948! 15058 321! 344! 314 440! 977
SBI55 FLL| 70 | 140 |211.8] 12 | 116 | 95 | M14 | M121704| 22 | 58 | 12 | 13 | 12 | 8 | PT1/8 | @#8.7 53 43'5 38 | 120 16 03 20 30 4000 147'9 224'5 5'95 4.78 4.78 6.58 13.72
SBI65 FL | 90 | 170 [219.8| 19 | 142 | 110 | M16 | M14 170.4] 26 | 71 | 14 | 13 | 14 | 10 | PT1/8 | @87 63 53:5 53 | 150 | 18 26 29 35 | 4000 188:3 261:7 8:24 5:57 5:57 1(.).17 23..17
SBI65 FLL| 90 | 170 [272.2| 19 | 142 | 110 | M16 | M14 |222.8| 26 | 71 | 14 | 13 | 14 | 10 | PT1/8 | @87 63 | 535| 53 | 150 | 18 | 26 | 22 | 35 | 4000 |2325| 3541 11.15| 9.86| 9.86| 13.29| 23.17
© C (Basic dynamic load rating), Co (Basic static load rating) ® *Q2: The hole of side grease nipple is not made to prevent a foreign substance from going into inside.
@ *S: Bolt size for bottom mounting type of block. When you order the side grease nipple, we build it by ourselves.

@/ 66 @167



	A. 0
	A. 0-1
	A. 2-3
	A. 4-5
	A. 6-7
	A. 8-9
	A. 10-11
	A. 12-13
	A. 14-15
	A. 16-17
	A. 18-19
	A. 20-21
	A. 22-23
	A. 24-25
	A. 26-27
	A. 28-29
	A. 30-31
	A. 32-33
	A. 34-35
	A. 36-37
	A. 38-39
	A. 40-41
	A. 42-43
	A. 44-45
	A. 46-47
	A. 48-49
	A. 50-51
	A. 52-53
	A. 54-55
	A. 56-57
	A. 58-59
	A. 60-61
	A. 62-63
	A. 64-65
	A. 66-67
	A. 68-69
	A. 70-71
	A. 72-73
	A. 74-75
	A. 76-77
	A. 78-79
	A. 80-81
	A. 82-83
	A. 84-85(수정)
	A. 86-87(수정)
	A. 88-89(수정)
	A. 90-91(수정)
	A. 92-93(수정)
	A. 94-95
	A. 96-97(수정)
	A. 98-99(수정)
	A. 100-101(수정)
	A. 102-103(수정)
	A. 104-105(수정)
	A. 106-107(수정)
	A. 108-109
	A. 110-111(수정)
	A. 112-113(수정)
	A. 114-115(수정)
	A. 116-117(수정)
	A. 118-119(수정)
	A. 120-121(수정)
	A. 122-123(수정)
	A. 124-125(수정)
	A. 126-127(수정)
	A. 128-129(수정)
	A. 130-131(수정)
	A. 132-133(수정)
	A. 134-135(수정)
	A. 136-137(수정)
	A. 138-139(수정)
	A. 140-141(수정)
	A. 142-143(수정)
	A. 144-145(수정)
	A. 146-147(수정)
	A. 148-149(수정)
	A. 150-151(수정)
	A. 152-153(수정)
	A. 154-155(수정)
	A. 156-157(수정)
	A. 158-159(수정)

